
 

 

Screw List :  

4 PM03-02-021         Blue spacers lg113mm 

8 NE01-01-001           Tbhc 6.16 

4 NE01-04-002           Clamped bolt M6 

6 NE01-01-008           Tbhc 6.25 

6 NE01-03-001           Washers M6 

 

 

AX1283 

YAMAHA YZ250F/450F 

Radiator Guards 

Plus d’infos et photos sur axp-racing.com OU Facebook/AxpRacing 

More informations and pictures on axp-racing.com OR 

Facebook/AxpRacing 

 

   

 

 

 

 

Plus d’infos et photos sur axp-racing.com OU Facebook/AxpRacing 

More informations and pictures on axp-racing.com OR 

Facebook/AxpRacing 

 

  

  

Tbhc 6.16 
Vis d’origine 

Original screws Ecrous pinces /Clamped bolt 

3 Tbhc 6.25 

+ 

1 2 3 

4 5 6 

  

Tbhc 6.16 Vis d’origine 

Original screws Ecrous pinces /Clamped bolt 

3 Tbhc 6.25 

1 2 3 

4 5 6 

AX1283 

YAMAHA YZ250F/450F 

Radiator Guards 

Screw List :  

4 PM03-02-021         Blue spacers lg113mm 

8 NE01-01-001           Tbhc 6.16 

4 NE01-04-002           Clamped bolt M6 

6 NE01-01-008           Tbhc 6.25 

6 NE01-03-001           Washers M6 

 

 


